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QUESTION 1

Which statement about looping in sequences is TRUE?

A. The Start Loop stage only supports numeric loops

B. Numeric loops must increment by one unless you supply a parameter

C. The current loop counter value can be passed to the stages in the loop

D. The compiler will insert an End Loop as the last stage in the sequence if one is omitted

Correct Answer: C

QUESTION 2

Which Slowly Changing Dimension (SCD) stage statement is TRUE?

A. Surrogate keys are used to join a dimension table to a fact table in a normalized schema database

B. Each SCD stage processes multiple dimensions and performs lookups by using an equality matching

C. Purpose codes are part of the table metadata that the SCD stage propagates to the dimension insert link.

D. Actual dimensions changes are applied to the lookup table in memory and are mirrored to the dimension update link

Correct Answer: B

QUESTION 3

For very large records, you may need to set the following environment variable with an appropriate value in order to
allow the job to run successfully:

A. $APT_MONITOR_SIZE

B. $APT_RECORD_COUNTS

C. $APT_DISABLE_COMBINATION

D. $APT_DEFAULT_TRANSPORT_BLOCK_SIZE

Correct Answer: D

QUESTION 4
Consider a customer with multiple environments, Development, Test and Production. Which statement is TRUE?

A. Each environment must have a C++ compiler.
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B. QualityStage rule sets are not a type of deployable asset.
C. Itis not possible to revert to a previous version of a package.
D. A package can contain an improved version of a job which will replace the old one.

Correct Answer: B

QUESTION 5

How do you create a shared table definition from the DataStage client?

A. Use the save button on the columns tab of the stage editor

B. Use the shared table creation wizard from the repository window

C. Do nothing. They are created automatically when table definitions are imported

D. It cannot be done within the DataStage client. Use the InfoSphere Metadata Asset Manager (IMAM) utility instead.

Correct Answer: B
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